The Area Between Two Curves.

1. Find the area of the region between the curves y =  and v =x* — x on the interval [0, 1].

with( plots) :
plot( [x3, ¢ — x], x=-1.2,y=-1..2, color = [red, black], thickness = 2);
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To find the area between the curves above we look at the upper function y =" and the lower function
y =x* — x and subtract. So, the area A is found by :

2. Find the area of the region bounded by the line y =3 x and the curve y =X +22°

plot( [3 X, © 42 xz], x=-5.4,y=-10..6, color = [red, blue], linestyle = [ dash, solid ), thickness = 2) ;



Area between two curves
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With the above graph we see that on the interval (-3, 0) the curve is above the line so the area will be
found by taking vertical strips such that the we subtract the line from the curve. On the other hand on
the interval (0, 1) the line is above the curve so the area will be found by taking vertical strips such that
we subtract the curve from the line. So,

A=J (=222 —(3x)]dx+J (3x) — (P 4272) | de=
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3. Find the area bounded by the curve y =sin(x) and the x-axis between x =- g and g

plot(sin(x), x=-Pi..Pi,y=-1..1, color =blue, thickness=2);

Area Involving Symmetry
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In the above curve we see that we can find the area of the curve between - n/2 and n/2 by by finding the
area between 0 and /2 and doubling the result.
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sin(x) dx



